Rk 3 TR Rl RASFMIETHR (88 75)

Fp 3 1TARE SR O —RESFHHETR (B8%5) 1%, WIZEDDLEIAIZLD,

(AT T 5 O IE)
B WARETROBBRICEAREZNEN2 2, 300 THZENL, RARHTROBEEZZARHEECNENS 3, 518, 180 TFHET 5,

2 WABHTROMIEDKED X 73 OEFLX 5y T L OB M IERORARHTROSET, H1R SARHTPRME X5,
(R R DA IE)

F2gk MEMFFEROBIMNE, THE2R BEUIRFERME] (X5,



%

13

TN

P

AR T R E
N

K

15 [EEE 3 4

-
E
S
S

B

/

2 [E A Bh 4

o




% H (WAL FM)
x 15 WoE T o #E o OE  # 7

3 RAR 16, 020, 201 8, 500 16, 028, 701
2 LR 5, 675, 084 8, 500 5, 683, 584
4 3, 024, 847 11, 060 3, 035, 907
1 ORfefi A= 2 1, 405, 640 11, 060 1, 416, 700
TR T 2, 048, 945 50 2, 048, 995
1 L 2, 048, 945 50 2, 048, 995
10 HBEE 6, 397, 251 2, 690 6, 399, 941
b B EE 1, 223, 732 2, 090 1, 225, 822
6 IRIEREH 107, 615 600 108, 215
% = 53, 495, 880 22, 300 53, 518, 180




F2Fk MR R L

& H = ES 4 4 5

TH
3 R s % 2 B = G (- ¢ & v B % B2 < v F ¥ 1,020
4 f s % I X (O T S ¢ + £ e = ES 500
I Yy JiE bS] R *x ES 10,400




MOAN R W O E T OE = O OB OB oMW E
A
(&) 15 [EE L4 (JA) 2 [EEMB4 (EAL M)
i i . i B}
IERTO%A 1IE % i B B
H MHIERTO% fii i + = - N p i H
2 RAE[EE 319, 609 8, 500 328,109 2 EEmEHLE 8,500| - &'t « B CHIEAR NS4 7, 100
B4 fiBh 4
AR 10,10
RBE XK A AR FEL M4 1, 400
= 10,10
3 far A [ 27, 156 500 27,656 1 fRfdf A2 5001 - &t « B CHRIERST4 500
B4 f/iBh 4
AR 10,10
2 3, 004, 764 9, 000 3,013, 764
G 19 A& (I8) 1 HeAs
i i . i 3
IERTO%A 1IE % i B B
H FHIERTO% fii i = - N p 1
1 BB AL - 13, 300 13,300 1 MABEREEE 13, 300| B B AL FL 4 e A\ 4 13, 300
S AE SRAE
=i 500, 765 13, 300 514, 065




o

(&) 3 R (JA) 2 Ve (A M)
— i . M IE %5 o B RN OER i .
H WIERTORE | 1 1E W & —— ‘ i ]
B | < 2 | & @
1 REEuLRR 2,933,012 6, 100 2,939, 112][# 6, 100 - |[FEHIEEFTOL W EEE 5, 600
v
FTECKE X —FERE 500
TE 4 970|REEFIRE V T TIRE B &4 970
1% H % 1, 020|VHEE L & 1, 020
13 % §& B 3, 110| R 8] 7 7 7 i s ikt 3,110
19 A A48 1, 000|287 7 7 1= Ee A B 500
K O A} 4
TB CERESCES FER M) 500
2 tREPTE 1, 247, 008 1,100 1, 248, 108| = 1,100 - |fERRHERE R 1, 000
FANTAR B AT Bk 36 2 50
MR LR E R 50
1% H % 500 | Y FE L E 500
13%& # # 500tk E T = etk 500
19 AL B 100| PR B BR B S S E A B 100

ROt 4




SWMEZLEYD 1, 485, 246 1, 300 1, 486, 546 | [# 1, 300 - |RSIREZ E L REE B X 1, 300
#
19 AH &8 1, 300[fR B ER LU B HEE B 1, 300
K O A} 4
2 5, 675, 084 8, 500 5, 683, 584 8, 500 -
(&) 4 AR (I8) 1 REEEmAEE
— i . M IE %5 o B RO ER i .
H MIERTOR | M IE # it — — i 2
BEMIR | AR x 2 | & ®
1 PRAdfE AR TR 616, 195 500 616, 695 500 - |BTr RS 500
v
1% H % 500 | Y FE T E 500
2 TEhE 226, 685 10, 560 237, 245 - 10, 560 [JEYLiE X TR B 2 2 10, 560
112 8 % 10, 560 |VH#E L& 10, 400
Il A 160
2 1, 405, 640 11, 060 1, 416, 700 500 10, 560




(&) T BELE (¥7) 1 LA
i . i IE %5 o B RN ER i .
H MIERTORE | 1E % at B 3]
R E AR — AR X 5y %
5 Bt 236, 809 50 236, 859 50 | i B Ak EL A 50
22 FRTEARIE & 50 | fit 5% {7 A A 18 4 50
O 4
2 2,048, 945 50 2,048, 995 50
() 10 HEE (¥7) b tHa#EE
i i . i IE %5 o B RO OER i .
B MIERTORE | i 1E %8 7t B |
R E AR — AR X 5y #A
2y —Ta v 119, 736 820 120, 556 - 820 [ i B e FAY 820
77 PR
#
22 FRTEARIE & 820 | it 5% £ F A HA 18 4 820
O 4
13 bt 167, 893 1,270 169, 163 - 1, 270 | e S F 5 B 2% 1,270
=
22 FRTEARIE & 1, 270 it 5% £ F A4 18 4 1,270
O 4
2 1,223,732 2, 090 1, 225, 822 - 2, 090




(1) 6 {PRIEET

_—— i B} i IE g o BN R i .
H WIERTORE | 1 1E W & —— ‘ i ]
BEMIR | AR x 2 | & #®
2 RIBAEE 1,166 100 1, 266 - 100 | it 5% 4545 PR 2 100
22 fliEME & 100 | fii 550 FHEH 8 4 100
OV 4
3 ZJRUEEIA 24, 570 270 24, 840 - 270 | i 5% e f=7 45 B 2y 270
[ PR
22 FRTEARIE & 270 | it 3% A5 R 18 4 270
OV 4
4 (EEWA A 20, 836 230 21, 066 - 230 | M R B T2 230
RN MNE
#
22 FRfEARIE & 230 | it B 5 R 18 4 230
O 4
2 107, 615 600 108, 215 - 600




